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4) The present ratio of students to teachers at a certain school is 30 to 1. If
the student enroliment were to increase by 50 students and the numbers of
teachers were to increase by 5, the ratio of students would then be 25 to 1.
What is the present number of teachers?

1)8



2) 10
3) 12
v 4) 15

Tz Let the number of student and teacher be represented by Sand T
respectively.

S:T=30:1
S/T =30/1
S=30T....... (i)

If number of students increases by 50 and number of teachers increases by
5

50+S:T+5=25:1

= (50 + S)/(T + 5) = 25/1
=S+ 50 =25(T +5)

=S + 50 = 25T + 125

= 30T + 50 = 25T + 125 [From (i)]
= 30T - 25T = 125 - 50

= 5T =75

= T=75/5 =15

". No of teachers=T=15

5) The word "exotic" could best be replaced by -

1) formal
2) outdoor
v 3) foreign
)

4) improper

AT : exotic - ISP, Tre foreign.
formal - TP
outdoor - IR

improper - 9gb®

6) Suppose the value of cell E5 in MS-Excel sheetis 3500. If we apply the
formula = IF ( E5 < 20000,E5 * 10%, E5 * 20%) , what will be the result ?



4 : We put a value 3500 in E5 cell. Then we apply a formula = IF ( E5 <
20000, E5* 10%, E20%). This formula calculate if value in E5 is less then
20000 is true then multiply the value in E5 i.e, 3500 with 10%. But if the
condition is false the multiply the value in E5 with 20%. Thus 3000 is less then
20000 so we multiply ( 3500*10%) = 350
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24) A person claiming to be superior in culture and intellect to others -
1) Elite
2) Highbrow
3) Aristocrat

v 4) Intellectual

N— N N N

1A : Elite - @ifisemo
Aristrocate - 598 IR
High brow - oIS e a3
Intelluctual - =S|

25) The plants and vegetation of a region -
1) Climate
2) Landscape
3) Fauna

v 4) Flora

I : Fauna is all of the animal life of any particular region or time. Flora is
the plant life occurring in a particular region or time.

26) Which of the following in the analogy of COWARD : BRAVE

1) philanthropist : selfish
2) martyr : impatient

3) hero : cynical

4) traitor : careful

4T : Coward (SIF) W% Brave (ST 711 Rerion@ | 5 @afd philanthropist
(ETRIXDT) W3R selfish (FLR) 3“7 RAITO1IE |



27) One who collects postage stamps -

1
v 2
3
4

Vendor
Philatelist
Stamp Collector
Lexicographer

~— N N S

Iz In the given question, we are asked to give a word for the phrase. The
phrase is “one who collects postage stamps”.

Stamp collecting is generally accepted as one of the areas that make up the
wider subject of philately, which is the study of stamps. A philatelist may, but
does to have to collect stamps.

Here Philatelis: He is the one who collects stamps and this option is the
correct option.

28) Retard' is to 'Impel' as 'Obfuscate’ is to -

1
v 2
3
4

Hallucinate
Confuse
Irradiate
Dampen

~— N N S

AN : retard T delay ([e9): Impel (SeTiTo 1) : BT meaning, (S8fd
Obfuscate (REE3A1) : Irradiate (AP TS 1) : BTOT meaning.

29) Which of the following in the analogy of EXPAND : VOLUME

1) deflect : heading

v 2) proliferate : number
3) bend : flexibility

4) ascend : flight

AT 1 Volume (97 A1 TNOTTE) (@ (T84 = 91 I (expand) Codfd number (12407)
@\3 I T IW (proliferate) |

30) One who hates mankind -

1
2
v 3
4

Hatter

Lover
Misanthrope
Philanthropist

N— N N N

AT - Hates mankind - Misanthrope, loves mankind - Philanthropist.



31) Which of the following in the analogy of SYMPHONY : COMPOSER

1
2
v 3
4

song : music
rain : flood
novel : author
light : switch

~— N N S

1N : Composer ( KPR, SNoPH) MR 3K (symphony) Tl & AP | (FFfd author
(1) G A1 novel foTcx A4 |

32)
A map representing countries R, S, W, X, Y, and Z is to be drawn. Adjacent countries cannot be the same color
on the map. The only countries adjacent to each other are as follows:
e R,S, X, andY are each adjacent to W.
e XisadjacenttoY.
e RandS are each adjacent to Z.
1) X is the same color as Y
v 2) W is a different color from any other country
3) Ris the same color as Y
4) S is the same color as X

A R,S, X and Y each are adjacent to W, so W can not be the same color
as X, as x is the same color as Z, So W can not be the same color as Z too.
So W is different from any other country.

33) Choose the opposite word to Parallelism

vl
2
3
4

Divergence
Obliquity
Correspondence
Contrast

N— N N N

A : Divergence is correct as the word divergence means the process or
state of diverging and the word parallelism means the state of being parallel

&




or of corresponding in some way.

Both the words are opposite of each other.

The other options are not correct as they do not have the opposite meaning
to the given word.

34) Choose the opposite word to Venerate

1
2
v 3
4

Severe
Respect
Condemn
Inculcate

~— N N S

I : Venerate (show deep respect) QAP 57Ad Gl
Respect - 519

Condemn - Y ot

Inculcate (teach earnestly) - eI FRITE

Severe (high, extreme) - O

35) Which would be third in alphabetical order ?

v
2
3
4

Mausoleum
Mauve
Maundy
Mane

~— N N S

Y 2 S AT Mane, W99 Manundy Q<3 3rd @ Mausoleum.

36) Read the following passage carefully and answer the questions based on
it.

In most discussions of cultural diversity, attention has focused on visible,
explicit aspects of culture, such as language, dress, food, religion, music and
social rituals. Although they are important, these visible expressions of
culture, which are taught deliberately and learned consciously, are only the
tip of the iceberg of culture. Much of culture is taught and learned implicitly,
or outside awareness. Thus, neither cultural insiders nor cultural outsiders
are aware ware that that certo certain " invisible" aspects of their culture
exit.

Invisible elements of culture are important to us. For example, how long we
can be late before being impolite, what topics we should avoid in a
conversation, how we show interest or attention through listening behavior,
what we consider beautiful or ugly-these are all aspects of culture that we
learn and use without being aware of it. When we meet other people whose



invisible cultural assumptions differ from those we have learned implicitly, we
usually do not recognize their behavior as cultural in origin. Differences in
invisible culture can cause problems in cross-cultural relations. Conflicts may
arise when we are unable to recognize others behavioral differences as
cultural rather than personal. We tend to micintament misinterpret other
people's behavior, blame them, or judge their intentions or competence
without realizing that we are experiencing cultural rather than individual
differences.

Formal organizations and institutions such as schools, hospitals, workplaces,
governments, and the legal Kas system are e conection collection and sites
for invisible coordonnerences cultural differences.. In If the differences were
more visible, we might have less misunderstanding. For example, if we met a
man in a courthouse who was wearing exotic clothes, speaking a language
other than ours, and carrying food that looked strange, we would not assume
that we understood his thoughts and feelings or that he understood ours. Yet
when such a man is dressed similarly to us, speaks our language and does
not differ from us in other obvious ways, we may fall to recognize the
invisible cultural differences between us. As a result, mutual
misunderstanding may arise.

The author implies that institutions such as schools and workplaces

1) teach their employees about cultural differences
2) share a common culture

v 3) reinforce invisible culture differences

4) are aware of culture differences

AN : 9 Para A3 2¥F &34 “Formal organizations ....for invisible cultural
difference.” Q1 31 JAMCET A2 school 1R work place 49§91 formal place @
cultural difference WR\3 reinforce (R&>MeT) 2|

37) Choose the opposite word to Debonair

1) Windy

2) Good-looking
v 3) Awkward

4) Balmy

4T : Debonair - <1

a. Balmy - s3>0

b. Awkward - @119

c. Good - looking - OIKT (TS
d. Windy - SR



38) Read the following passage carefully and answer the questions based on
it.

In most discussions of cultural diversity, attention has focused on visible,
explicit aspects of culture, such as language, dress, food, religion, music and
social rituals. Although they are important, these visible expressions of
culture, which are taught deliberately and learned consciously, are only the
tip of the iceberg of culture. Much of culture is taught and learned implicitly,
or outside awareness. Thus, neither cultural insiders nor cultural outsiders
are aware ware that that certo certain " invisible" aspects of their culture
exit.

Invisible elements of culture are important to us. For example, how long we
can be late before being impolite, what topics we should avoid in a
conversation, how we show interest or attention through listening behavior,
what we consider beautiful or ugly-these are all aspects of culture that we
learn and use without being aware of it. When we meet other people whose
invisible cultural assumptions differ from those we have learned implicitly, we
usually do not recognize their behavior as cultural in origin. Differences in
invisible culture can cause problems in cross-cultural relations. Conflicts may
arise when we are unable to recognize others behavioral differences as
cultural rather than personal. We tend to micintament misinterpret other
people's behavior, blame them, or judge their intentions or competence
without realizing that we are experiencing cultural rather than individual
differences.

Formal organizations and institutions such as schools, hospitals, workplaces,
governments, and the legal Kas system are e conection collection and sites
for invisible coordonnerences cultural differences.. In If the differences were
more visible, we might have less misunderstanding. For example, if we met a
man in a courthouse who was wearing exotic clothes, speaking a language
other than ours, and carrying food that looked strange, we would not assume
that we understood his thoughts and feelings or that he understood ours. Yet
when such a man is dressed similarly to us, speaks our language and does
not differ from us in other obvious ways, we may fall to recognize the
invisible cultural differences between us. As a result, mutual
misunderstanding may arise.

What is the main purpose of the passage ?

v
2
3
4

To explain the importance of invisible aspects of culture
To point out that much of culture is learned consciously
To describe cultural diversity

To explain why cross-cultural conflict occurs

~— N S S



AN : 7f T Passage Y& invisible aspects of culture {3 AT $41 200% |

39) Choose the opposite word to Eulogistic

1
2
3
v 4

Stern
Brief
Pretty
Critical

N— N N N

AT : Eulogistic (praise) - ePIsoe’
Pretty - 51%i<

Stern - IR

Critical - ST AT

Brief - 559 |

40) POST means

1
2
3
v 4

) Point of sale Terminal

) Proper Operating Service Terminal

) Post Office Sale Terminal

) None of the Above

A In computer term, POST is one of many request methods supported by
the HTTP Protocol used by the world wide web. POST is a request method
name not in abreviated from.

41) If you rearrange the letters "LNGEDNA", you have the name of a (n) :

1) city

2) ocean

3) animal
v 4) country

4T : Rearrange ¥FE “England” <3 I, T W36 country.

42) The word "deliberately" is closest in meaning to -

vl
2
3
4

intentionally
randomly
accurately
slowly

S~— N N N



A : deliberately - IPOCIA, (AT | (GFH intentionally - 2RO |
randomly - QGECHACETOI

accurately - S3Pe@

slowly - 9§ @i

43) UNEQUIVOCAL : CLEAR

1
2
3

va

gloss : agile
genuine : invisible
excuse : barrier
frisky : playful

~— N N S

74T : Unequivocal (P®) : clear (P1®8) - A1 STEIE ¥ | WK option SR 5« (d)
frisky (219 5%eT) U2 playful (5% ) \3 THYF|



4

44) Which number is the question mark?

10

WA :4=6-2
6=9-32=3-1
9=19-10;3=10-7
1=7-7

=7=6




45) When you start your computer then which component works first ?

1) BIOS

2) Hard Disk
3) Processor
4) RA

Iy : BIOS is the program a computer's microprocessor uses to start the
computer system after it is powered on. It also manages data flow between
the computer's operating system (OS) and attached devices, such as the
hard disk, video adapter, keyboard, mouse and printer.

46) Answer the question on the basis of the information given below : From
2001 to 2015, there is a projected increase in the number of workers in
which of the following of the following categories?

Distribution of workforce by occupational category for region syz' in 2001 and projected for 2015

Total workforce: 150 million Total workforce: 175 million

Professional 1%

Professional 2%
Service

Manufacturing

Agricultural

Clerical

Sales Sales Managerial

2001 ‘ 2015 (Projected)
1) Service
2) Sales
3) Clerical
v 4) All of these above

Y : 8% of 150 = 12 mill.

7% of 175 = 12.25 mill, increased in sales
6% in service, clearly increased

20% of 150 = 30 mill

18% of 175 = 31.5 mill, increase in clerical.
So, a, b and c all project increase



47) In Bangladesh , BTRC provides bandwidth of internet services through
submarine cable network . Which of the following submarine cable networks
is connected with Bangladesh ?

1
v 2
3
4

Southern Cross Cable
SEA-ME-WE

FLAG

C2C North Ring

~— N N S

I : Bangladesh is connected to the world internet services through
submarine cable network named SEA - ME - WE - 4. Recently Government
decided to join with another connection named SEA - ME - WE - 5.

48) Five persons are travelling in a train - A, B, C, D and E. A is the mother of
C who brother of A and B is the husband of A. How is B related to E ?

v
2
3
4

) Father in law

) Brother

) Father

) Uncle

AT : (A+B) T 79115 TI0| (¥ C & R IR E, O B % E 7 Father-in-law.

49) "Ebola" has not spread out in epidemic form in which of the following
countries ?

v
2
3
4

Nigeria
Liberia
Guinea
Sierra Leon

~— N S S

A : The Western African Ebola virus epidemic (2013-2016) was the most
widespread outbreak of Ebola virus disease (EVD) in history, causing major
loss of life and socioeconomic disruption in the region, mainly in Guinea,
Liberia and Sierra Leone.

The first cases were recorded in Guinea in December 2013; later, the disease
spread to neighbouring Liberia and Sierra Leone,with minor outbreaks
occurring elsewhere.

It caused significant mortality, with the case fatality rate reported which was
initially.



50) Maximum number of rows in an excel sheet are

v 1) 65536.0
2) 65532.0
3) 256.0
4) 65535.0

5141 : Before it was 65536.0 but now Excel has a limit of 1,048,576 rows and
16,384 columns per sheet.



51) what is the miximum number number of 3 X 3 squares that can be
formed from the squares in the 6x6 checker board to the right?

[ e —————
.- o :
.- o :
s . > — .
e =g g g :
.- o :
—

1) 24



AN : 4 fod D1 200 G0 3 x 3 square WE AL U3 cheker board U’ B[/ g
K14, Total 16 0 3 x 3 square 91 & |

52) Who was the Finance Minister during our liberation war in 1971 ?

1) A. H. M. Kamruzzaman
2) Dr.Kamal Hossain
3) Syed Nazrul Islam

v 4) Captain M. Mansur Ali

AT - He was elected a member of the Provincial Assembly from Pabna in
1970.

He was the Finance Minister in the cabinet of Bangladesh Government in
exile, and played vital role in organising the War of Liberation.

After independence, Mansur Ali was the Minister for Communication, and
then the Minister for Home Affairs and Communication in the cabinet of
Bangabandhu Sheikh Mujibur Rahman.

53) Which number is the odd one in oval A and B respectively?

12

48
42

36 24

1) 42,18
v 2) 42,52
3) 48,52



4) 36,6

AT : 42 MR, 24,36,48 T2 12 I3 BTGP (oval A)
(odfd 52 17, 12,18, 36, 30 A% 6 K SFOF (oval B)

54) Which one of the following is not a central bank ?

1
2
3
v 4

State Bank of Pakistan
Bank of England

Central Bank of Sri Lanka
Central Bank of India

~— N N

T : Central Bank of India, an Indian government - owned bank, is one of
the oldest and largest commercial banks in India.

It is based in Mumbai which is the financial capital of India and capital city of
state of Maharashtra.

It is one of twelve public sector banks in India to get recapitalised in 2009.

55) Which is the smallest district in Rajshahi Division ?
1) Naogaon
2) Chapainowabgonj
v 3) Joypurhat
4) Natore

A : Joypurhat is a district in the northern part of Bangladesh.
It is part of Rajshahi Division.
Joypurhat district established 1984.

56) If x = y?, y =z°, and z=x‘then the value of abc is —

vi1

=

~ W N
~ W N

AW 2 x = y?
or, x= z3P

or, x = xabc
or, ABC=1

57) In terms of GDP, which one of the following is the largest economy ?

v 1) USA



2) Australia
3) UK
4) China

AT : Country = GDP

1. United States of America = 23.3 trillion
2. People's Republic of China =17.7 trillion
3. Japan= 4.9 trillion

4. Germany=4.3 trillion

58) Which of the following describes all values of x for which 1 -x2 = 0?
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=

59) ABC Ltd. produces widgets for which the demand is unlimited and they
can sell all of their production. The graph below describes the monthly
variable costs incurred by the company as a function of the quantity
produced. In addition, operating the plant for one shift results in a fixed
monthly cost of Rs. 800. Fixed monthly costs for second shift operation are
estimated at Rs. 1200. Each shift operation provides capacity for producing
30 widgets per month. Note: Average unit cost, AC = Total monthly costs/
monthly production, and Marginal cost MC is the rate of change in total cost
for unit change in quantity produced

Suppose that each widget sells for Tk. 150. What is the profit earned by AC



Ltd. in July ? ( Profit is defined as the excess of sales revenue over total cost.)

7000

VARIABLE COST
6000 /
Figuréin 2000
Rs. /
4000 //
3000
/
2000 /
1000 //
0 _I/
0 10 20 30 40 50
| Numberofunits |
1) 1,600
2) 400
v 30
4) 2,400

T : Total sales = 150 * 40 = 6000. Total costs = 2000 + 3650(approx).=
5600 to 5700 .Hence , profit = 6000 - 5600 = 400 (approx). Hence option C.

60) Which of the following programming languages is not a high level

language ?

AT : Popular High - level programming languages today include : FORTRAN,

Pascal, C,C + +, Java, Python, Visual Basic, Delphi, Perl, PHP, Ruby,
ECMAScript, COBOL etc. Oracle is a database Program and a type of
structured Query language (SQL).

61) Who was the first Bangladeshi presiding over General Assembly session

of the United Nations ?

v 1) Humayun Rashid Chowdhury



2) A.M.A. Muhith
3) Saifur Rahman
4) Dr. Kamal Hossain

4T : Humayun Rasheed Choudhury (11 November 1928 - 10 July 2001) was
a Bangladeshi career diplomat and Speaker of the Bangladesh National
Parliament from 1996 to 2001. He was elected president of the 41st session
of the UN General Assembly in 1986.

62) A train 120 meter long is traveling at a speed of 60 km/h. The time in
which it will pass a passersby , waking at 6 km /h in the same direction is -

AT : 93 T (510 515 7= (60-6) = 54 km/h
= (54*1000/3600) m/s

=15 m/s

@A TR Afowrd 3@ = 120/ 15 = 8 sec

63) The book "Glimpses of World History" was written by -

1
v 2
3
4

Carlyle

Jawaharlal Nehru
Karl Marx
Rabindranath Tagore

~— N N

T : Glimpses Of World History was written by Nehru in 1934, which
provides the readers a panoramic sweep of history, comprising 196 letters in
total.

These letters were written from a number of prisons in British India from
1930 to 1933.



64) Find the missing number:

50

16

AT 2 Y IS, 26-16 = 10
10*5 = 50

WIS, 13-8 =5

5%5 = 25

0T 0T, 52-32=20

20%5 = 100

26




65) $$ If P = \dfrac {x~2-36}{x"2-49} and Q = \dfrac {x+6}{x+7}%%

v 1) $$\frac{x-6}{x-7}
2) $$\frac{x+6}{x-7}
3) $$\frac{x-6}{x+7}
4) $$\frac{x-6}{x+6}

A : If P = (x2-62) / (x?-72) = (x+6)(x-6) / (X+7)(x-7)
Q =x+6/x+7

P/Q = {(x+6)(x-6) / (X+7)(x-7) } / ( x+6 / x+7)

= X-6 / x-7

66) A train 120 meter long is traveling at a speed of 60 km/h. The time in
which it will pass a passersby , walking at 6 km/h in the same direction is -

v
2
3
4

) 8 sec

) 9 sec

) 3 sec

) 6 sec

AN : 133 AP (51 BIOR 517G T = (60-6) km/h
=(54 * 1000/3600) = 15 m/s

@D ETPIOCE Ao d FAR = 120/15 = 8 se

67) A CD-ROM drive is labeled with 52X. Here 52X is a measurement of -

1
2
3
v 4

Revolution per minute
Capacity of the CD
Time required reading
Data transfer rate

N— N N N

YT : X means in speed in terms of CD ROM. 52X means it is 52 times faster
then ix. The speed of CD - ROM is measured in Revolution per minute (RPM).

68) When did Bangladesh achieve membership of United Nations ?

1) 1973

v 2) 1974

3) 1972

4) 1975

AT 2 A8 SR Y LB, IR SINOHIR 2T ST NG I |

IRATCR ARG CTY G IZAF D8 FNEK 8 (6T SR WKW I1RSAT O QFTH



O rafeEd |
OB (AR 2000 HE FRS IR FTANEPT] PRI ST5T RN RIRIY AT PR ZE |

69) In a certain code 'TABLE' is written as WDEOH. How would 'SKY' be
written in that code?

AT : T A3 70 I AR W
A 3 70 39 & D

coafd

S I3 70 I AR V

K W7 70 39 2iI10 N

V a3 710 37 9@ B

70) Which one of the following is Utility Software ?

v 1) McAfee
2) MS-Word
3) Oracle
4) Windows Xp

T Utility software is software designed to help to analyze, configure,
optimize or maintain a computer.

It is used to support the computer infrastructure - in contrast to application
software, which is aimed at directly performing tasks that benefit ordinary
users. However, utilities often form part of the application systems.



71) In the figure at the right end, PS is perpendicular to QR. IF PQ=PR and PS
= 24, then QR="?

v1)20
2) 14
3) 18
4) 16



A : PQ2+PS?+QS?
=Q52=(26)2—(24)2=(26+24(26—24)=100
=QS=v100=10

~QR=10%2=20 ['QS=SR:QR=2QS]

72) Which of the following is grown from stem cuttings ?

vl
2
3
4

Sugarcane
Turmeric
Banana
Maize

N— N N N

4 : Plant cutting is the common method for vegetative propagation i.e
asexual method by which plant can be grown. This method can be performed
by using stem, roots or leaf. Stem cutting when placed in soil produces roots
and leaves and grows into a new plant. Sugar cane, roses, citrus, durant,
grapes, cocoa, bougainvillea, carnations and many other plants are largely
and rapidly propagated by stem cuttings.

73) ABC Ltd. produces widgets for which the demand is unlimited and they
can sell all of their production. The graph below describes the monthly
variable costs incurred by the company as a function of the quantity
produced. In addition, operating the plant for one shift results in a fixed
monthly cost of Rs. 800. Fixed monthly costs for second shift operation are
estimated at Rs. 1200. Each shift operation provides capacity for producing
30 widgets per month.

Note: Average unit cost, AC = Total monthly costs/monthly production, and
Marginal cost MC is the rate of change in total cost for unit change in
quantity produced

From the data provided it can be inferred that , for production levels in the



range of 0 to 60 units:

VARIABLE COST

6000 /
o 5000
Figurein
- /
4000
3000 /

2000 /

1000
/’/

o m—""

0 10 20 30 40 50

] Number of units

v 1) MC is an increasing function of production quantity .

2) None of them

3) MC is a decreasing function of production quantity

4) Initially MC is a decreasing function of production quantity, attains a
minimum and then it is an increasing function of production quantity.

A : As the graph is an increasing function, MC will always increase for
increase in number of units.

74) ABC Ltd. produces widgets for which the demand is unlimited and they
can sell all of their production. The graph below describes the monthly
variable costs incurred by the company as a function of the quantity
produced. In addition, operating the plant for one shift results in a fixed
monthly cost of Rs. 800. Fixed monthly costs for second shift operation are
estimated at Rs. 1200. Each shift operation provides capacity for producing
30 widgets per month.

Note: Average unit cost, AC = Total monthly costs/monthly production, and
Marginal cost MC is the rate of change in total cost for unit change in
quantity produced

Total production in July is 40 units. what is the approximate average unit cost



for July?

VARIABLE COST

6000 //,/’//,4
o 5000
Figurein
Rs. /
4000
3000 "”/,//

2000 /

1000 //
0 Ak.'//
0 10 20 30 40 50
| Numberofunits |

1) 3,600
v 2) 140

3) 90

4) 115

A : For 40 units total fixed costs would be 1200 + 800 = 2000 and variable
cost = 3700 . So total cost = 5700 (approx). Hence approximate average unit
cost for July = 5700 /40 = 142.5 . Hence option C is the correct answer



75) In 2001, how many categories each comprised more than 25 million
workers?
Distribution of workforce by occupational category for region syz' in 2001 and projected for 2015

Total workforce: 150 million Total workforce: 175 million

Professional 1% pProfessional 2%

Service

Manufacturing

Agricultural

Clerical
Sales Sales Managerial
2001 ‘ 2015 (Projected)
1) Two
2) Four
v 3) Three
4) One

A 1 15% of 150 million = 22.5 million < 25 million

Now, 18% of 150 million = 27 million

28% of 150 million = 42 million

So, 18%,20%, and 28% would be the categories with more than 25 million
workers.

76) Which one of the following is 'legal tender money'?

1) Cheque
2) Devit Card
3) Credit Card
v 4) Coins

T : United States coins and currency (including Federal reserve notes and
circulating notes of Federal reserve banks and national banks) are legal
tender for all debts, public charges, taxes and dues. Foreign gold or silver
coins are not legal tender for debts.

77) Which of the following companies has issued largest ever IPO in capital
market ?

v 1) Ali Baba



2) Microsoft
3) Google
4) Black Berry

A : "Alibaba Turns to Morgan Stanley in Largest - Ever IPO." Accessed
March 4, 2020.
New York Stock Exchange. "Alibaba Lists on the NYSE." Accessed March 4, 20

78) The foreign exchange reserve of Bangladesh Bank at this moment is at
record level. What is that level ?

1) $20+ billion
2) $23+ billion
v 3) $24+ billion

4) $22+ billion

4T : Foreign Exchange Reserves in Bangladesh averaged 24752.40 USD
Million from 2008 until 2023, reaching an all time high of 48060.00 USD
Million in August of 2021 and a record low of 7470.90 USD Million in June of
2008.

79) ABC Ltd. produces widgets for which the demand is unlimited and they
can sell all of their production. The graph below describes the monthly
variable costs incurred by the company as a function of the quantity
produced. In addition, operating the plant for one shift results in a fixed
monthly cost of Rs. 800. Fixed monthly costs for second shift operation are
estimated at Rs. 1200. Each shift operation provides capacity for producing
30 widgets per month.

Note: Average unit cost, AC = Total monthly costs/monthly production, and
Marginal cost MC is the rate of change in total cost for unit change in
quantity produced

ABC Ltd. is considering increasing the production level . What is the
approximate marginal cost of increasing production form its July level of 40



units to 41 units?
7000

VARIABLE COST

6000

o 5000
Figurein
RS. /
4000

3000 /

2000 /

1000 /

o m—""

0 10 20 30 40

] Number of units

A - We know that MC is the rate of change in total cost for unit change in
quantity produced. SO for 40 units total cost = 2000+3700 = 5700 and for
50 units = 2000 + 5000 = 7000. So for additional 10 units change in total
costs is 1300 . So for 1 unit we have MC = 130.

80) Who is the regulator for Micro-finance institutions in Bangladesh ?

1
2
v 3
4

Bangladesh Bank
PKSF

MRA

CDF

N— N N N

A Microcredit Regulatory Authority (MRA) is the central body to monitor

and supervise microfinance operations of non - governmental organizations
of the Republic of Bangladesh.

It was created by the Government of People's Republic of Bangladesh under
the Microcredit Regulatory Authority Act (Act no. 32 of 2006).

50



81) Which of the following is an affiliate of the International Bank of
Reconstruction and Development ?

1) UNICEF

v 2) IDA

3) IMF

4) UNDP

I : The International Development Association is an international financial
institution which offers concessional loans and grants to the world's poorest
developing countries.

The IDA is a member of the World Bank Group and is headquartered in
Washington, D.C. in the United States.

82) Queen Sofia belongs to -

1) Egypt
2) France

v 3) Spain
4) Britain

I = Sofia (born 2 November 1938) was Queen of Spain from 1975 to 2014
as the wife of King Juan Carlos.

Born Princess Sophia of Greece and Denmark she is the first child of King
Paul of Greece and Frederica of Hanover.

As her family was forced into exile during the Second World War, she spent
part of her childhood in Egypt, returning to Greece in 1946.

She completed her secondary education in a boarding school in Germany
before returning to Greece where she specialised in childcare, music and
archaeology.

83) Bluetooth operations use

1) Magnetic technology
v 2) Radio technology

3) Optical technology

4) Laser technology

T : Bluetooth is a wireless technology standard for exchanging data over
short using short - wavelength UHF radio waves in the ISM band from 2.4 to
2.485 GHZ.



84) In regard to noble prize, which one of the following is not true ?

1
2
3

va

Malala Yusufzai is a noble prize winner in peace

Malala Yusufzai is the youngest noble prize winner

Malala Yusufzai is the sixteenth woman noble prize winner
Malala Yusufzai is a noble prize winner in education

~— N N S

4 : Other statements are true.

Only this statement: Malala Yusufzai is a noble prize winner in education. is
not true.

The Nobel Prize is an international award administered by the Nobel
Foundation in Stockholm, Sweden, and based on the fortune of Alfred Nobel,
Swedish inventor and entrepreneur.

85) At present, father's age is 4 times more than that of his son . 6 years
ago father's age was 10 times more than of his son. What is their present
age?

1
2
3

va

56 and 14 years
32 and 8 years
40 and 10 years
36 and 9 years

~— N N S

M : Let, Father’'s age be F and son’s age be S
F = 4Sbr/> and, (F - 6) = 10(S - 6)

£94S -6 =10S - 60

6S =54

S=9,F =36

86) Five persons are travelling in a train -A, B, C, D and E. A is the mother of
C who brother of A and B is the husband of A. How is B related to E?

v
2
3
4

Father in Law
Uncle
Brother
Father

~— N S S

AT : 531 FAH @A IR B T2 E < Fathr - in - law.

87) Which of the following is not a contagious disease ?

1) Mumps
2) Tuberculosis



v 3) Typhoid
4) Small Pox

4 : Typhoid is a bacterial infection that can lead to a high fever, diarrhea,
and vomiting. It can be fatal.

It is caused by the bacteria Salmonella typhi. The infection is often passed on
through contaminated food and drinking water, and it is more prevalent in
places where handwashing is less frequent.

88) Which of the following country is the highest emitter of CO2 ?

1) USA
2) UK
v 3) China
4) Germany

A : China is the world's largest contributing country to CO, emissions—a
trend that has steadily risen over the years—now producing 10.06 billion
metric tons of CO,.

The biggest culprit of CO, emissions for these countries is electricity, notably,
burning coal.

89) The average of two numbers is 62. If 2 is added to the smaller number,
the ratio between the numbers becomes 1 :2 . The smaller number is -

1) 60

v 2)40
3) 30
4) 84

A : Average is = 62

Then the summation will be = 62*2 = 124

If, the small number is = x

then the other will be = 124-x

The ratio; x+2 /124-x = 1/2

or, 2x+4 = 124-x

or, 3x =120

or, x =40



90) What is the ratio of the number of workers in the Agricultural category in
2001 to the projected number of such workers in 20157

Distribution of workforce by occupational category for region syz' in 2001 and projected for 2015
Total workforce: 150 million Total workforce: 175 million

Professional 1%

Professional 2%

Service

Manufacturing

Agricultural

Clerical

Clerical
Sales Sales Managerial
2001 2015 (Projected)
1) 3/7
v 2)9/14
3) 4/13
4) 1/3

I : Ratio = (150*%18/100) : (175*24/100)
= (150*18/100) / (175*24/100)
= 9/14

91) Where does Rakhain tribe mainly live ?

1
v 2
3
4

Bandarban
Patuakhali
Rajshahi
Rangamati

N— N N N

A : There is a small community of Rakhine people inhabiting the coastal
areas of Patuakhali, Borguna and Cox's Bazar, having migrated to
Bangladesh from Myanmar before the formation of these two contemporary
countries. The total population of the community as of 2020 is 16,000.



92)

A map representing countries R, S, W, X, Y, and Z is to be drawn. Adjacent countries cannot be the same color
on the map. The only countries adjacent to each other are as follows:
e R,S, X, andY are each adjacent to W.

e Xisadjacentto.

e RandS are each adjacent to Z.

8}006.

Which of the following is a pair of countries that can be the same color as
each other?

MW : As S and Z are adjiacent, they must be different in color.

93) Which sport is associated with the Davis Cup ?

1) Horse Racing
2) Cricket

3) Football
v 4) Tennis

Iy : The Davis Cup, the tennis equivalent of the football World Cup, was
named after American collegian Dwight Filley Davis, who came up with the
idea to start a challenge tennis match between the USA and Great Britain.

First played in 1900, it was originally called the International Lawn Tennis
Trophy




94)

which of the following countries can be the same color as W?

1) X
2)S
v3)Z
4) R

A : Z is not adjacent to W.

95)

Which of the following is a pair of countries that must be different in color
from each other?

1) Xand Z
2)Sand X
3) Rand X



v4)SandZ

AT : R and S are no adjacent.

96) In the figure below, the value of y is _

1) 12
2) 24
v 3)42
4) 36

T =22x+3x=180
=5x=180

=X=36
Again,y+30=2x=72
=y=42

97) If the price of an item is increased by 10% and then decreased by 10% ,
the net effect on the price of the item is -

1) No change
2) an increase of 7%



v 3) a decrease of 1%
4) an increase of 9%

A : Lets say, price is 100 Tk

10% increase, sp = 110 tk

10% decrease, sp = 100 - 10% of 110 =110 - 11 =99
". Net decrease 1%

98) Rearrange the following sentences A, B, C, D, E and F in proper sequence
to form a meaningful paragraph and then answer the questions given below.
a) Miss Asha arrived at the Sheela's home when Helen was seven.

b) The deaf and blind Helen learned to communicate verbally.

c) But, eventually Miss Asha's effort was rewarded.

d) Before Helen, Sheela was two years old, she lost her sight and her
hearing.

e) Miss Asha worked closely with Helen, her new student.

f) At times, the teacher became frustrated.

Which sentence should come first?

v1A
2) C
3)D
4) E

M : a) Miss Asha arrived at the Sheela's home when Helen was seven.
IBRAVIZIREC I EKIRINAVIN G Rb e GEERS EELES)

b) Miss Asha worked closely with Helen, her new student.

(F2rs1 TP Oik apd FRFI A (@SR SN GPIBON PTG AT 1)

c) Before Helen, Sheela was two years old, she lost her sight and her
hearing.

((CECAR TICsT TR IT e 2 27 3R T O 718 <1 \3 21 <1 arficafeget )

d) At times, the teacher became frustrated.

(FICH IR PSP W Rofd 2o 207 (o 1)

e) But, eventually Miss Asha's effort was rewarded.

(T, T #1T5 B IR 120 2%

f) The deaf and blind Helen learned to communicate verbally.

(TTF 032 I @ O 198 ©R 2P PACo PIeaea T1H)

'A" sentence should come first.

99) Rearrange the following sentences A, B, C, D, E and F in proper sequence
to form a meaningful paragraph and then answer the questions given below.



a) Miss Asha arrived at the Sheela's home when Helen was seven.
b) The deaf and blind Helen learned to communicate verbally.
c) But, eventually Miss Asha's effort was rewarded.

d) Before Helen, Sheela was two years old, she lost her sight and her
hearing.

e) Miss Asha worked closely with Helen, her new student.

f) At times, the teacher became frustrated.

Which sentence should come last?

v

w N

)
)
)
)

mTmMm Qg W

I

M : a) Miss Asha arrived at the Sheela's home when Helen was seven.
IBRAVIZIREC RIS KIRINAVIN G Rb feG GEERS EELES)

b) Miss Asha worked closely with Helen, her new student.

(71 P OIK Tpd PPFIAT TR SN APIBTOIR PSP 1)

c) Before Helen, Sheela was two years old, she lost her sight and her
hearing.

(CCECAR TICsT TR IT e 2 27 3R T O 718 <1 \3 21 <1 2rficafeet )

d) At times, the teacher became frustrated.

(FIR IR PSP KR Rofd ZorT 207 (o 1)

e) But, eventually Miss Asha's effort was rewarded.

(T, T #1T5 B R 120 ()

f) The deaf and blind Helen learned to communicate verbally.

(TTF 032 14 @ O <198 ©R 2P PACo PIeaea T1H)

'B" sentence should come last.

100) Rearrange the following sentences A, B, C, D, E and F in proper
sequence to form a meaningful paragraph and then answer the questions
given below.

a) Miss Asha arrived at the Sheela's home when Helen was seven.

b) The deaf and blind Helen learned to communicate verbally.

c) But, eventually Miss Asha's effort was rewarded.

d) Before Helen, Sheela was two years old, she lost her sight and her
hearing.

e) Miss Asha worked closely with Helen, her new student.



f) At times, the teacher became frustrated.
Which sentence should come third?

N
mgo O @

AN
38\/\/

M : a) Miss Asha arrived at the Sheela's home when Helen was seven.
IBRAVIZIREC RIS KIRINAVIN G RbleG GEERS EELES)

b) Miss Asha worked closely with Helen, her new student.

(o1 P OIK Tpd PPFIAT TR SN APIBTOIR PSP 1)

c) Before Helen, Sheela was two years old, she lost her sight and her
hearing.

(TR ST AR I 5 2 29 QIR 31 O 778 <1 \3 XRk7 =1 arficafeet )

d) At times, the teacher became frustrated.

(F IR PSP KR Rofd 2o 207 (o 1)

e) But, eventually Miss Asha's effort was rewarded.

(T, T *1T3 B R 120 21

f) The deaf and blind Helen learned to communicate verbally.

(TTF 032 14K @ O 198 ©R 2P PACO PICURa T1 )

'D" sentence should come third.
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